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lo = Is1*exp(Vbel/(kT/q))
lo = Is2*exp((Vbel-lo*R)/(kT/q))

lo= (1/R)*(kT/q)*In(Is1/1s2)
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=&AL 1s2/1s1=10, R1=R2&L T
Bandgap reference 2 mV = (25mV/300)*(1+R2/R3)*In(10)
9.42=R2/R3
AVbe *(1+R2/R3) = 600 mV
1= Is1*exp(Vbel/(kT/q)) Vout~ 1.2V~ Eg: AL /SUREryFEldBEFE
12=1s2*exp(Vbe2/(kT/q)) r
AVbe=Vbel-Vbe2 = (kT/q)*In((11/12)*(Is2/Is1))
Vbe2 R3
Vout = Vbel + (R2/R3)*(Vbel-Vbe2) VWV ‘ "
= Vbe2 + (1+ R2/R3)*AVbe 10P Vout
BORERY Vbel P
11 =(Vout —Vbe1)/R1 = (R2/(R1*R3))*AVbe 5 1l vaw
12 = AVbe/R3
D2 "<z D1
AVbe= (KT/q)*In((11/12)*(1s2/1s1))
= (kT/q)*In((R2/R1)*(Is2/Is1)) J7
EDBERY
AVbelZDWTIEDBERYBZHF-ELHZENTELNT CDEIBEICEIRERAELNE
VoutDBREFRHEZELOICTELRHEHRTET HENTESD, 11=12=0&7E>TLESZELH S
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